
ARITHMECUTS

The numbers 1 to 16 have been arranged on a 4 by 4 grid.

Divide the grid into two parts so that the totals of the numbers in 
each part are equal. The division line must be continuous, 
following the dotted lines. The two parts do not have to be the 
same shape or have the same number of squares.

In the example shown the total of the numbers in each part is 68.

5 13 9 4

8 1 12 7

16 15 10 6

3 11 2 14

Use the copies of the grid below to draw as many different solutions as you can. 
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ARITHMECUTS : answers
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